



INTERNATIONAL JOURNAL OF PURE AND APPLIED RESEARCH IN ENGINEERING AND TECHNOLOGY

A PATH FOR HORIZING YOUR INNOVATIVE WORK

SOLUTION OF NON-HOMOGENEOUS DIFFERENTIAL EQUATION WITH THREE AND FOUR FRACTIONAL DERIVATIVES

AYAD R. KHUDAIR, NADA K. MAHDI

Department of Mathematics, Faculty of Science, Basrah University, Basrah, Iraq

Accepted Date: 08/01/2016; Published Date: 01/02/2016

Abstract: - The linear non-homogeneous ordinary differential equations with three (four) order fractional derivative are considered. Using the direct and inverse Laplace transforms the series solutions of these equations are investigated. Several examples are then given to demonstrate the validity of our main results.

Keywords: Fractional differential equations, Riemann–Liouville derivative, Caputo derivative, Laplace transforms.

Corresponding Author: DR. AYAD R. KHUDAIR

Access Online On:

www.ijpret.com

How to Cite This Article:

Ayad R. Khudair, IJPRET, 2016; Volume 4 (6): 1-11



PAPER-QR CODE

1. INTRODUCTION

Fractional differential equations are generalization of the ordinary differential equation to arbitrary non-integer order. Fractional differential equations arise in many complex systems in nature and society with many dynamics, such as rheology, porous media, viscoelasticity, electrochemistry, electromagnetism, signal processing, dynamics of earthquakes, optics, geology, viscoelastic materials, biosciences, bioengineering, medicine, economics, probability and statistics, astrophysics, chemical engineering, physics, splines, tomography, fluid mechanics, electromagnetic waves, nonlinear control, control of power electronic, converters, chaotic dynamics, polymer science, proteins, polymer physics, electrochemistry, statistical physics, thermodynamics, neural networks, and many more [9,11,12,18,19,25,28]. In recent years, there has been a significant development in the techniques of solving fractional differential equations, some recent contributions can be seen in [1-11,13-17,20-28], and the references therein. A wide description of the problem of the existence and uniqueness of solutions of Cauchy-type problems for fractional order differential equations together with its applications can be found in the literature [1, 6, 7, 23, 26, 21-28].

2. Definitions and Preliminaries

1. The fractional derivative of a causal function $f(t)$ ([1,2]) is define by

$$\frac{d^\alpha}{dt^\alpha} f(t) = \begin{cases} f^{(n)}(t) & \text{if } \alpha = n \in N, \\ \frac{1}{\Gamma(n-\alpha)} \int_0^t \frac{f^{(n)}(t)}{(t-x)^{\alpha-n+1}} dt & \text{if } n-1 < \alpha < n, \end{cases}$$

where the Euler gamma function $\Gamma(\cdot)$ is defined by

$$\Gamma(x) = \int_0^\infty t^{x-1} e^{-t} dt \quad (x > 0).$$

2. The Laplace transform of a function $f(t), t \in (0, \infty)$ is defined by

$$L[f(t)](s) = F(s) = \int_0^\infty e^{-st} f(t) dt \quad (s \in C).$$

3. The Riemann – Liouville fractional derivatives $D_{a+}^\alpha y$ and $D_{b-}^\alpha y$ of order $\alpha \in C (\Re(\alpha) \geq 0)$ are defined by

$$(D_{a+}^{\alpha} y)(x) = \frac{1}{\Gamma(n-\alpha)} \left(\frac{d}{dx}\right)^n \int_a^x \frac{y(t)dt}{(x-t)^{\alpha-n+1}} \quad (n = [\Re(\alpha)] + 1; x > a)$$

and

$$(D_{b-}^{\alpha} y)(x) = \frac{1}{\Gamma(n-\alpha)} \left(-\frac{d}{dx}\right)^n \int_x^b \frac{y(t)dt}{(t-x)^{\alpha-n+1}} \quad (n = [\Re(\alpha)] + 1; x < b)$$

Respectively, where $[\Re(\alpha)]$ means the integral part of $\Re(\alpha)$.

4. The pochhammer symbol (or the shifted factorial, since $(1)_n = n!$ for $n \in \mathbb{N}_0 = \{0, 1, 2, \dots\}$) given by

$$(\lambda)_n = \begin{cases} 1 & (n=0), \\ \lambda(\lambda+1)\dots(\lambda+n-1) & (n \in \mathbb{N}_0 / \{0\}). \end{cases}$$

5. The binomial coefficients are defined by

$$\binom{\lambda}{n} = \frac{\lambda!}{\lambda!(\lambda-n)!} = \frac{\lambda(\lambda-1)(\lambda-n+1)}{n!}$$

Where λ and n are integers. Observe that $0! = 1$, then

$$\binom{\lambda}{0} = 1, \quad \binom{\lambda}{\lambda} = 1 \quad \text{and} \quad (1-z)^{-\lambda} = \sum_{r=0}^{\infty} \frac{(\lambda)_r}{r!} z^r = \sum_{r=0}^{\infty} \binom{\lambda+r-1}{r} z^r.$$

$$6. L[D^{\alpha} f(t)](s) = s^{\alpha} L[D^{\alpha} f(t)](s) - \sum_{k=1}^n s^{\alpha-k} f^{(k-1)}(0),$$

Where $\alpha > 0, n-1 < \alpha \leq n (n \in \mathbb{N}), f(t) \in C^n(0, \infty), f^{(n)}(t) \in L_1(0, b)$ for any $b > 0$ [15].

3. Mean Result

Theorem 3.1: Let $f(t)$ be analytic in $[0, t_1]$, $n-1 < \alpha < n$ and $a, b \in R$

$$y^{\alpha+2}(t) + a y^{\alpha+1}(t) + b y^{\alpha}(t) = f(t),$$

Then

$$\begin{aligned} y(t) &= \sum_{k=1}^n y^{(k-1)}(0) \frac{t^{k-1}}{\Gamma(k)} + y^{(n)}(0) \sum_{k=0}^{\infty} \frac{(-b)^k t^{2k+n}}{k!} \frac{\Gamma(k+r+1)(-at)^r}{\Gamma(n+r+2k+1)r!} \\ &+ y^{(n+1)}(0) \sum_{k=0}^{\infty} \frac{(-b)^k t^{2k+n+1}}{k!} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at)^r}{\Gamma(n+r+2k+2)r!} \\ &+ a y^{(n)}(0) \sum_{k=0}^{\infty} \frac{(-b)^k t^{n+2k+1}}{k!} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at)^r}{\Gamma(n+r+2k+2)r!} \\ &+ \sum_{l=1}^{\infty} a_l l! \sum_{k=0}^{\infty} \frac{(-b)^k t^{2k+\alpha+l+2}}{k!} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at)^r}{\Gamma(r+2k+\alpha+l+3)r!} \end{aligned}$$

Proof: Since $f(t)$ is analytic in $[0, t_1]$, one can expand it as $f(t) = \sum_{i=0}^{\infty} a_i t^i$ where $a_i = \frac{f^{(i)}(0)}{i!}$, $\forall i = 0, 1, 2, \dots$

Now, applying the Laplace transform we have

$$\begin{aligned} s^{\alpha+2} \bar{y}(s) - \sum_{k=1}^{n+2} s^{\alpha+2-k} y^{(k-1)}(0) + a s^{\alpha+1} \bar{y}(s) - a \sum_{k=1}^{n+1} s^{\alpha+1-k} y^{(k-1)}(0) + b s^{\alpha} \bar{y}(s) \\ - b \sum_{k=1}^n s^{\alpha-k} y^{(k-1)}(0) = \sum_{l=1}^{\infty} a_l \frac{l!}{s^{l+1}} \end{aligned}$$

$$\begin{aligned} \bar{y}(s) &= \sum_{k=1}^n s^{-k} y^{(k-1)}(0) + \frac{s^{1-n}}{s^2 + a s + b} y^{(n)}(0) + \frac{s^{-n}}{s^2 + a s + b} y^{(n+1)}(0) \\ &+ a \frac{s^{-n}}{s^2 + a s + b} y^{(n)}(0) + \sum_{l=1}^{\infty} \frac{a_l l! s^{-\alpha-l-1}}{(s^2 + a s + b)} \end{aligned}$$

Since

$$\begin{aligned} \frac{1}{s^2 + a s + b} &= \frac{s^{-1}}{s + a + b s^{-1}} = \frac{s^{-1}}{(s + a) \left(1 + \frac{b s^{-1}}{s + a} \right)} \\ &= \frac{s^{-1}}{(s + a)} \sum_{k=0}^{\infty} \left(\frac{-b s^{-1}}{s + a} \right)^k = \sum_{k=0}^{\infty} \frac{(-b)^k s^{-k-1}}{(s + a)^{k+1}} = \sum_{k=0}^{\infty} \frac{(-b)^k s^{-2k-2}}{(1 + a s^{-1})^{k+1}} \\ &= \sum_{k=0}^{\infty} (-b)^k s^{-2k-2} \sum_{r=0}^{\infty} (-a s^{-1})^r \binom{k+r}{r} \\ &= \sum_{k=0}^{\infty} (-b)^k \sum_{r=0}^{\infty} \binom{k+r}{r} (-a)^r s^{-r-2k-2} \end{aligned}$$

By taken inverse Laplace transform, one can have

$$\begin{aligned} y(t) &= \sum_{k=1}^n y^{(k-1)}(0) \frac{t^{k-1}}{\Gamma(k)} + y^{(n)}(0) \sum_{k=0}^{\infty} \frac{(-b)^k}{k!} \sum_{r=0}^{\infty} \frac{(k+r)! (-a)^r}{\Gamma(n+r+2k+1)} \frac{t^{n+r+2k}}{r!} \\ &+ y^{(n+1)}(0) \sum_{k=0}^{\infty} \frac{(-b)^k}{k!} \sum_{r=0}^{\infty} \frac{(k+r)! (-a)^r}{\Gamma(n+r+2k+2)} \frac{t^{n+r+2k+1}}{r!} \\ &+ a y^{(n)}(0) \sum_{k=0}^{\infty} \frac{(-b)^k}{k!} \sum_{r=0}^{\infty} \frac{(k+r)! (-a)^r}{\Gamma(n+r+2k+2)} \frac{t^{n+r+2k+1}}{r!} \\ &+ \sum_{l=1}^{\infty} a_l l! \sum_{k=0}^{\infty} \frac{(-b)^k}{k!} \sum_{r=0}^{\infty} \frac{(k+r)! (-a)^r}{\Gamma(r+2k+\alpha+l+3)} \frac{t^{r+2k+\alpha+l+2}}{r!} \end{aligned}$$

$$\begin{aligned} y(t) &= \sum_{k=1}^n y^{(k-1)}(0) \frac{t^{k-1}}{\Gamma(k)} + y^{(n)}(0) \sum_{k=0}^{\infty} \frac{(-b)^k t^{2k+n}}{k!} \frac{\Gamma(k+r+1) (-at)^r}{\Gamma(n+r+2k+1) r!} \\ &+ y^{(n+1)}(0) \sum_{k=0}^{\infty} \frac{(-b)^k t^{2k+n+1}}{k!} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1) (-at)^r}{\Gamma(n+r+2k+2) r!} \\ &+ a y^{(n)}(0) \sum_{k=0}^{\infty} \frac{(-b)^k t^{n+2k+1}}{k!} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1) (-at)^r}{\Gamma(n+r+2k+2) r!} \\ &+ \sum_{l=1}^{\infty} a_l l! \sum_{k=0}^{\infty} \frac{(-b)^k t^{2k+\alpha+l+2}}{k!} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1) (-at)^r}{\Gamma(r+2k+\alpha+l+3) r!} \end{aligned}$$

Example 3.2: Let $\alpha = \frac{3}{2}, a = \sqrt{3}$ and $b = -8$ in theorem (3.1), then the solution of

$$y^{\frac{7}{2}}(t) + \sqrt{3} y^{\frac{5}{2}}(t) - 8 y^{\frac{3}{2}}(t) = e^{\sqrt{3}t}$$

$$\begin{aligned} y(t) &= \sum_{k=1}^n y^{(k-1)}(0) \frac{t^{k-1}}{\Gamma(k)} + y^{(n)}(0) \sum_{k=0}^{\infty} \frac{(-8)^k t^{2k+n}}{k!} \frac{\Gamma(k+r+1)(-\sqrt{3}t)^r}{\Gamma(n+r+2k+1)r!} \\ &+ y^{(n+1)}(0) \sum_{k=0}^{\infty} \frac{(-8)^k t^{2k+n+1}}{k!} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-\sqrt{3}t)^r}{\Gamma(n+r+2k+2)r!} \\ &+ \sqrt{3} y^{(n)}(0) \sum_{k=0}^{\infty} \frac{(-8)^k t^{n+2k+1}}{k!} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-\sqrt{3}t)^r}{\Gamma(n+r+2k+2)r!} \\ &+ \sum_{l=1}^{\infty} (\sqrt{3})_l l! \sum_{k=0}^{\infty} \frac{(-8)^k t^{2k+l+\frac{7}{2}}}{k!} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-\sqrt{3}t)^r}{\Gamma(r+2k+l+\frac{9}{2})r!} \end{aligned}$$

Theorem 3.3: Let $f(t)$ be analytic in $[0, t_1]$, $n-1 < \alpha < n$ and $a, b \in R$

$$y^{\alpha+3}(t) + a y^{\alpha+2}(t) + b y^{\alpha+1}(t) + c y^{\alpha}(t) = f(t)$$

Then

$$\begin{aligned} y(t) &= \sum_{k=1}^n y^{(k-1)}(0) \frac{t^{k-1}}{\Gamma(k)} + y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-2} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-1]r!} \\ &+ y^{(n+1)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-3} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-2]r!} \\ &+ y^{(n+2)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-4} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-3]r!} \\ &+ a y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-3} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-2]r!} \end{aligned}$$

$$\begin{aligned}
 &+ a y^{(n+1)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-4} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1) (-at^{-1})^r}{\Gamma[-2k-r-J-n-3] r!} \\
 &+ b y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-4} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1) (-at^{-1})^r}{\Gamma[-2k-r-J-n-3] r!} \\
 &+ \sum_{l=1}^{\infty} a_l l! \sum_{k=0}^{\infty} (-1)^k t^{-2k-\alpha-l-5} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1) (-at^{-1})^r}{\Gamma[-2k-r-J-\alpha-l-4] r!}
 \end{aligned}$$

Proof: Since $f(t)$ is analytic in $[0, t_1]$, one can expand it as $f(t) = \sum_{i=0}^{\infty} a_i t^i$ where $a_i = \frac{f^{(i)}(0)}{i!}, \forall i = 0, 1, 2, \dots$

Now, applying the Laplace transform we have

$$\begin{aligned}
 &s^{\alpha+3} \bar{y}(s) - \sum_{k=1}^{n+3} s^{\alpha+3-k} y^{(k-1)}(0) + a s^{\alpha+2} \bar{y}(s) - a \sum_{k=1}^{n+2} s^{\alpha+2-k} y^{(k-1)}(0) + b s^{\alpha+1} \bar{y}(s) \\
 &- b \sum_{k=1}^{n+1} s^{\alpha+1-k} y^{(k-1)}(0) + c s^{\alpha} \bar{y}(s) - c \sum_{k=1}^n s^{\alpha-k} y^{(k-1)}(0) = \sum_{l=1}^{\infty} a_l \frac{l!}{s^{l+1}} \\
 \\
 &\bar{y}(s) = \sum_{k=1}^n s^{-k} y^{(k-1)}(0) + \frac{s^{-n}}{s^3 + a s^2 + b s + c} y^{(n)}(0) + \frac{s^{1-n}}{s^3 + a s^2 + b s + c} y^{(n+1)}(0) \\
 &+ \frac{s^{-n}}{s^3 + a s^2 + b s + c} y^{(n+2)}(0) + a \frac{s^{1-n}}{s^3 + a s^2 + b s + c} y^{(n)}(0) + a \frac{s^{-n}}{s^3 + a s^2 + b s + c} y^{(n+1)}(0) \\
 &+ b \frac{s^{-n}}{s^3 + a s^2 + b s + c} y^{(n)}(0) + \sum_{l=1}^{\infty} \frac{a_l l! s^{-\alpha-l-1}}{(s^3 + a s^2 + b s + c)}
 \end{aligned}$$

Since

$$\begin{aligned}
 \frac{1}{s^3 + a s^2 + b s + c} &= \frac{s^{-2}}{s + a + b s^{-1} + c s^{-2}} = \frac{s^{-2}}{(s + a) \left(1 + \frac{b s^{-1}}{s + a} + \frac{c s^{-2}}{s + a} \right)} \\
 &= \frac{s^{-2}}{(s + a)} \sum_{k=0}^{\infty} \left(\frac{-b s^{-1} - c s^{-2}}{s + a} \right)^k = \frac{s^{-2}}{(s + a)^{k+1}} \sum_{k=0}^{\infty} (-b s^{-1} - c s^{-2})^k \\
 &= \sum_{k=0}^{\infty} (-1)^k \sum_{J=0}^{\infty} (b)^{k-J} c^J \sum_{r=0}^{\infty} \binom{k+J}{r} (-a)^r s^{-3-2k-r-J}
 \end{aligned}$$

By taken inverse Laplace transform, one can have

$$\begin{aligned}
 y(t) &= \sum_{k=1}^n y^{(k-1)}(0) \frac{t^{k-1}}{\Gamma(k)} + y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k \sum_{J=0}^{\infty} \frac{(b)^{k-J} c^J}{J!(k-J)!} \sum_{r=0}^{\infty} \frac{(k+r)!(-a)^r}{\Gamma[-1-2k-r-J-n]} \frac{t^{-2k-r-J-n-2}}{r!} \\
 &+ y^{(n+1)}(0) \sum_{k=0}^{\infty} (-1)^k \sum_{J=0}^{\infty} \frac{(b)^{k-J} c^J}{j!(k-J)!} \sum_{r=0}^{\infty} \frac{(k+r)!(-a)^r}{\Gamma[-2-2k-r-J-n]} \frac{t^{-2k-r-J-n-3}}{r!} \\
 &+ y^{(n+2)}(0) \sum_{k=0}^{\infty} (-1)^k \sum_{J=0}^{\infty} \frac{(b)^{k-J} c^J}{j!(k-J)!} \sum_{r=0}^{\infty} \frac{(k+r)!(-a)^r}{\Gamma[-3-2k-r-J-n]} \frac{t^{-2k-r-J-n-4}}{r!} \\
 &+ a y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k \sum_{J=0}^{\infty} \frac{(b)^{k-J} c^J}{J!(k-J)!} \sum_{r=0}^{\infty} \frac{(k+r)!(-a)^r}{\Gamma[-2-2k-r-J-n]} \frac{t^{-2k-r-J-n-3}}{r!} \\
 &+ a y^{(n+1)}(0) \sum_{k=0}^{\infty} (-1)^k \sum_{J=0}^{\infty} \frac{(b)^{k-J} c^J}{J!(k-J)!} \sum_{r=0}^{\infty} \frac{(k+r)!(-a)^r}{\Gamma[-3-2k-r-J-n]} \frac{t^{-2k-r-J-n-4}}{r!} \\
 &+ b y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k \sum_{J=0}^{\infty} \frac{(b)^{k-J} c^J}{J!(k-J)!} \sum_{r=0}^{\infty} \frac{(k+r)!(-a)^r}{\Gamma[-3-2k-r-J-n]} \frac{t^{-2k-r-J-n-4}}{r!} \\
 &+ \sum_{l=1}^{\infty} a_l l! \sum_{k=0}^{\infty} (-1)^k \sum_{J=0}^{\infty} \frac{(b)^{k-J} c^J}{J!(k-J)!} \sum_{r=0}^{\infty} \frac{(k+r)!(-a)^r}{\Gamma[-4-2k-r-J-\alpha-l]} \frac{t^{-2k-r-J-\alpha-l-5}}{r!} \\
 \\
 y(t) &= \sum_{k=1}^n y^{(k-1)}(0) \frac{t^{k-1}}{\Gamma(k)} + y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-2} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-1]r!} \\
 &+ y^{(n+1)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-3} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-2]r!} \\
 &+ y^{(n+2)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-4} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-3]r!} \\
 &+ a y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-3} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-2]r!} \\
 &+ a y^{(n+1)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-4} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-3]r!} \\
 &+ b y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-4} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-n-3]r!} \\
 &+ \sum_{l=1}^{\infty} a_l l! \sum_{k=0}^{\infty} (-1)^k t^{-2k-\alpha-l-5} \sum_{J=0}^{\infty} \frac{(b)^{k-J} (ct^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)(-at^{-1})^r}{\Gamma[-2k-r-J-\alpha-l-4]r!}
 \end{aligned}$$

Example 3.4: Let $\alpha = \frac{3}{2}, a = 2, b = 4$ and $c = 5$ in theorem (3.2), then the solution of $y^{\frac{9}{2}}(t) + 2y^{\frac{7}{2}}(t) + 4y^{\frac{5}{2}}(t) + 5y^{\frac{3}{2}}(t) = \sin(2t)$ is

$$\begin{aligned}
 y(t) = & \sum_{k=1}^n y^{(k-1)}(0) \frac{t^{k-1}}{\Gamma(k)} + y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-2} \sum_{J=0}^{\infty} \frac{(4)^{k-J} (5t^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)t^{-r}}{\Gamma[-2k-r-J-n-1]r!} \\
 & + y^{(n+1)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-3} \sum_{J=0}^{\infty} \frac{(4)^{k-J} (5t^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)t^{-r}}{\Gamma[-2k-r-J-n-2]r!} \\
 & + y^{(n+2)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-4} \sum_{J=0}^{\infty} \frac{(4)^{k-J} (5t^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)t^{-r}}{\Gamma[-2k-r-J-n-3]r!} \\
 & + 2y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-3} \sum_{J=0}^{\infty} \frac{(4)^{k-J} (5t^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)t^{-r}}{\Gamma[-2k-r-J-n-2]r!} \\
 & + 2y^{(n+1)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-4} \sum_{J=0}^{\infty} \frac{(4)^{k-J} (5t^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)t^{-r}}{\Gamma[-2k-r-J-n-3]r!} \\
 & + 4y^{(n)}(0) \sum_{k=0}^{\infty} (-1)^k t^{-2k-n-4} \sum_{J=0}^{\infty} \frac{(4)^{k-J} (5t^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)t^{-r}}{\Gamma[-2k-r-J-n-3]r!} \\
 & + \sum_{l=1}^{\infty} (2)_l l! \sum_{k=0}^{\infty} (-1)^k t^{-2k-l+\frac{7}{2}} \sum_{J=0}^{\infty} \frac{(4)^{k-J} (5t^{-1})^J}{J! \Gamma(k-J+1)} \sum_{r=0}^{\infty} \frac{\Gamma(k+r+1)t^{-r}}{\Gamma[-2k-r-J-l+\frac{5}{2}]r!}
 \end{aligned}$$

REFERENCES

1. S. Abbas, M. Benchohra, G. M. N’Guerekata, Topics in Fractional Differential Equations, Springer, 2012.
2. R.P Agarwal, M. Benchohra, S. Hamani, Boundary value problems for fractional differential equations. Georgian. Math. J. 16, (2009), 401-411.
3. R.P. Agarwal, D. O. Regan, S. Stanek, Positive solutions for Dirichlet problem of singular nonlinear fractional differential equations. J. Math. Anal. Appl. 371, (2010), 57-68.
4. R.P. Agarwal, Y. Zhou, J. Wang, X. Luo, Fractional functional differential equations with causal operators in Banach spaces. Math. Comput. Model. 54, (2011), 1440-1452.
5. S. Arshad, V. Lupulescu, On the fractional differential equations with uncertainty. Nonlinear Anal. 74, (2011), 3685-3693.
6. D. Baleanu, K. Diethelm, E. Scalas, J.J. Trujillo, Fractional Calculus Models and Numerical Methods (World Scientific Publishing, New York, 2012).

7. K. Diethelm, The Analysis of Fractional Differential Equations. Lecture Notes in Mathematics, Springer, 2010.
8. K. Diethelm, N.J. Ford, Analysis of fractional differential equations. J. Math. Anal. Appl. 265, (2002), 229-248.
9. K. Diethelm, A.D. Freed, On the solution of nonlinear fractional order differential equations used in the modeling of viscoplasticity, in Scientific Computing in Chemical Engineering II-Computational Fluid Dynamics, Reaction Engineering and Molecular Properties, ed. by F. Keil, W. Mackens, H. Voss, J. Werther, Springer, (1999), pp. 217-224
10. S.D. Eidelman, A.N. Kochubei, Cauchy problem for fractional diffusion equations, Journal of Differential Equations 199, (2004),211–255.
11. L. Gaul, P. Klein, S. Kempfle, Damping description involving fractional operators. Mech. Syst. Signal Process. 5, (1991),81–88.
12. W.G. Glockle, T.F. Nonnenmacher, A fractional calculus approach of self-similar protein dynamics. Biophys. J. 68, (1995), 46-53.
13. Y. Jiang, X. Ding, Waveform relaxation methods for fractional differential equations with the Caputo derivatives, Journal of Computational and Applied Mathematics 238 (2013) 51-67.
14. W. Jiang, Eigenvalue interval for multi-point boundary value problems of fractional differential equations, Applied Mathematics and Computation 219 (2013), 4570-4575.
15. A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, Theory and Applications of Fractional Differential Equations, Elsevier, 2006.
16. A. R. Khudair, On solving non-homogeneous fractional differential equations of Euler type, Computational and Applied Mathematics, 32, (2013) 577-584.
17. Z. Liu, X. Li, Existence and uniqueness of solutions for the nonlinear impulsive fractional differential equations, Commun Nonlinear Sci Numer Simulat 18 (2013), 1362-1373.
18. R. Magin, Fractional Calculus in Bioengineering (Begell House Publishers, Redding, 2006.
19. F. Metzler, W. Schick, H.G. Kilian, T.F. Nonnenmacher, Relaxation in filled polymers: A fractional calculus approach. J. Chem. Phys. 103, (1995),7180–7186.

20. G.M. Mophou, Existence and uniqueness of mild solutions to impulsive fractional differential equations, *Nonlinear Analysis: Theory, Methods & Applications* 72, (2010), 1604-1615.
21. K.S. Miller, B. Ross, *An Introduction to the Fractional Calculus and Differential Equations*, Wiley, New York, 1993.
22. I. Podlubny, *Fractional Differential Equations: An Introduction to fractional derivatives, fractional differential equations, to methods of their solution and some of their Applications*, Academic Press, 1999.
23. J. Sabatier, O. P. Agrawal, J. A. T. Machado, *Advance Fractional Calculus*, Springer, 2007.
24. S.G. Samko, A. A. Kilbas, O.I. Marichev, *Fractional integrals and derivatives: theory and applications*, Gordon and Breach science publishers, 1993.
25. H. Sheng, Y. Chen, T. Qiu, *Fractional Processes and Fractional-order Signal Processing; Techniques and Applications*, Springer-Verlag, London, 2011.
26. S. W. Vong, Positive solutions of singular fractional differential equations with integral boundary conditions, *Mathematical and Computer Modelling* 57 (2013) 1053-1059.
27. G. Zaslavsky, *Hamiltonian Chaos and Fractional Dynamics* (Oxford University Press, New York, 2005.
28. C. Zhai , W. Yan , C. Yang, A sum operator method for the existence and uniqueness of positive solutions to Riemann–Liouville fractional differential equation boundary value problems, *Commun Nonlinear Sci Numer Simulat* 18 (2013) 858-866.